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BMAL  BHIBA &MOA BFHIZA
&Rz BINE K4 B | 3 | GROSS | HDCP NET | GROSSIEL =
1 TFE ** 43 38  81]12.0 §69.o
9 |FkA ok 43| 40| 83]14.0 69.0
3 |t 41, 39 80/ 9.0 |71.0
4 g wx | 38 42| 80| 9.0 |71.0
5 | @ * 42| 40/ 82/10.0 |72.0
6 |HIR  xk 42| 40/  82/10.0 72.0
7 ok 39/ 40/ 79 7.0 |72.0
8 |EF ek 45| 42/ 87/13.0 |74.0
9 |E #x 41| 41, 82 7.0 |75.0
10 (A sk 45/ 41| 86| 6.0 80.0
11 BEHE ek 49| 42/  91/10.0 |81.0
12 1B sk 48| 46| 94[/13.0 81.0
13 [ f8H ek 48| 45 93510.0 83.0
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Wiz BIE A B | A | GROSS | HDCP | NET |GROsSi, =
1 |BF5T  *% 44 43 87/21.0 166.0
2 WAl %% 47| 36 83115.0 168.0
3 EHE ek 45| 45 90/19.0 |71.0
4 Gk kx 53| 511 104/28.0 [76.0
5 PHE =« 47| 49 96/19.0 |77.0
6 |l ek | 52| 48| 100/17.0 |83.0
7 ERE % 57 45/ 102/15.0 |87.0
8 HBAR =* 60| 51| 111/22.0 [89.0
9 ‘HHlE 54/ 53| 107/18.0 89.0
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